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No. 11 BF 50m B ¥ 8 A L L— R R KRRE  36.97
LK ATIL—T >
BfL. K 4 i B 2E KE =
1 K HEF KSCTH /I 1/ 3 44. 91 5%
2 WA A KSCTH /N 1/ 5 47.97 *TF@) 3%k
3 e L KSCER)I /2 1/ 6 49. 49 2%
4 KA F KSCTH /N2 1/ 4 53. 44 *F#&)
No. 13 B2F 50m E e 8 A L L—R R XREE 3103
L BIIL—T >
IBfL. KK 4 i B 2E KE i
1 —Hh #EH KSCTH ! 2/ 5 33.99 9%
2 EHEZ KSCTH /N4 2/ 4 36. 31 Tk
3 MK R BRBLY 7N 2/ 3 36. 67 TH%
4 FRb FRIR T 2ANRNT 4 A N3 2/ 7 40. 56 85
5 KV ¥ KSCERII /M4 1/ 5 43. 37 3%
6 HA EE KSC#F~ /)4 1/ 3 44. 32
7T R i TZNT 4 F M 1/ 4 44. 97 2%
8 Wi N TANRT oA M 1/ 6 45. 03 25%
9 WHE A J—ZXAC /N3 2/ 6 45. 96 1%
10 RKEF R KER BkED /N3 1/ 2 52.69
No. 15 BBF 50m B} AA LL—RiRR £mE 2860
L CHIL—T >
BRI K 4 T & 2E KK =G
I ST N KSCTH NG 3/ 4 27'2ﬁ8 128
23 JoC
2 R¥E fHHE T AT 4 A /b 3/ 5 31. 41 9%
3 i H 7% KSCTH NG 3/ 3 31.76 Tk
4 NJT 24 HHEFSC NG 3/ 2 31. 84 Tk
5 HAr ui A KSCTH /N6 3/ 6 31.97 Tk
6 HEiE KSCTH N6 3/ T 32. 64 7%
7hE o AR KSCERJII /6 3/ 1 33.24 6%
8 &H B KO JAK NG 2/ 4 34. 11 5k
9 JUKFKLEA FHEF S C /N5 2/ 5 34.90 Tk
10 HHy  BRME KSCER)I /6 2/ 6 35. 91 A%
11 FI 5585 HHEEF S C /NG 2/ 3 36. 84 5k
12 5T b BkED /NG 2/ 2 37. 11 5k
13 fial  AEK HHF S C NG 2/ T 37.40 3%
14 fE0 B KSCE=REJI /5 2/ 1 37.80 5k
15 ® DL HHFSC NG 1/ 5 40. 36 1%
16 vl K BkEy NG 1/ 4 40. 96
17 W E EE KSCH#F~ /)5 1/ 3 42.80 1%
18 Wiy Agch TANRT oA )b 1/ 6 42. 91 1k
19 Hiy EH3} TRANT A )b 1/ 2 43. 62 1k
20 K78 {2 H&EF S C /NG 1/ 7 46. 32
No. 17 B¥ 50m BH# A LL—RREE KemE 2557
L DHIL—TF >
IBf. KK 4 i B 2E KE i
1 kR ER HHF S C 3 5/ 5 27.17 8H%
2 F E KSCTH 12 5/ 4 27.20 Otk
3 HH . KSCTH 13 5/ 6 27.55 %
4 Ayl & HEF S C 13 5/ 3 27.56 THE
5 N E HFESEF S C 3 5/ 2 28. 14 Tk
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No. 17 5+ 50m EH# A LL—R R AR 25.57

LKL DITNL—T >

BfL. K 4 i B 2E KE B fE
6 HFH Bk J—Z2AC =B 5/ 1 28.70 TH%
7 PR RER J—XAC 19 4/ 4 28. 81 Tk
8 JIIH B J—XAC 1 4/ 6 29. 29 8k
9 BRI TANT 44 H2 4/ 3 29. 59 6%
10 fixH ES HHEF S C ] 4/ 5 29. 65 8%
11 B BEK KO JAK 12 5/ 7 29.76 6tk
12 Byl o EE HEF S C 13 4/ 1 29.90 5k
13 )l B4 BkED 3 4/ 2 30.13 5k
14 ZAR FHt HEFSC 3 4/ 7 30.53 45%
15 [ fisy BLb 13 3/ 5 31. 01 45
16 B KA HERF S C 13 3/ 4 31.06 45%
17 B H=EEA KSCER)I 2 2/ 4 31. 51 5%
18 HH FLA KSCTH ==h] 2/ 5 31.74 67%
18 dIl BEA KSCERJI 1 3/ 2 31.74 6%
20 EZAFEXKRKE BLb 2 2/ 7 31.75 4%
21 ffx  1&5 J—XAC H12 3/ 7 31.77 45%
22 xR AR J—XAC 2 3/ 1 31.99 45%
23 I —% J—XAC Hi1 2/ 3 32.13 5%
24 YA ST HEF S C 1 3/ 6 32. 43 5%
25 Il RE HEF S C 1 3/ 3 32.52 5k
26 I b KSC#F~ 2 1/ 4 32.79 3%
27 N V3 H#EF S C 1 2/ 6 32.96 5%
28 Yaf I&HE KSCTH 12 2/ 2 33.30 3%
29 s AR BkED 1l 2/ 1 34.54 3k
30 st SEV KSCTH e 1/ 7 35. 45 3k
31 1’#H B KS CgERJII 1 1/ 5 35.84 oM
32 A1 %04 HWHFSC ==h] 1/ 3 35. 91 2%
33 A % HEF S C 13 1/ 6 37.45
34 KT w22 FEF S C H1 1/ 2 38.62

No.19 BF 50m B 8 A L L— R R RERE 262

L CSTIL—TF >

BfL. KK 4 i B 2E KE B fE
1 HE & J—Z2AC =2 2/ 5 25. 51 9%
2 KIE  FOE J—ZXAC =3 2/ 4 25. 82 8k
3 EHb KE— KSCTH =3 2/ 6 26. 41 Tk
4 Jkhd KIE J—XAC =1 2/ 2 26. 82 Tk
5 HE e J—ZXAC =2 2/ 3 27. 40 TH%
6 FHb &K KSCTH =2 1/ 5 27.47 %
7 AT HERE HEFSC m=l 2/ 7 28.05 61k
8 ITfE  fA KSCTH =3 1/ 6 28. 41 5%
9 FH (g KO JAK =1 1/ 3 28.92 5%
10 AR P KSCTH =2 1/ 4 28.95 5#%
11 #fH FHE KSCERI &2 1/ 2 30.13 4%

HAOBRME: 4H18H 11:02



